Name
Topic 24 Goodness of Fit
Quiz


It is supposed that blood types occur at a fairly specific distribution in the human population as follows 

	Blood Type
	A
	B
	AB
	O

	Proportion
	34%
	15%
	23%
	28%


We take a random sample of 100 people to test this supposition.
	Blood Type
	A
	B
	AB
	O

	Sample results
	12
	56
	2
	30


What are the expected values for the four blood types for the sample of 100 people?

	Blood Type
	A
	B
	AB
	O

	Expected results
	
	
	
	


Are the technical conditions satisfied (explain)

H0 = __________________________________________________________________

HA = __________________________________________________________________

Show the calculation of χ2 in the blanks below (you may leave in fraction form).

χ2 = _________ + ___________ + _____________+ _____________ = ____________
df  = _______________

p-value = ________________

suppose α = .05

Statistical Test Decision ___________________________________________________

Decision in Context _______________________________________________________

_______________________________________________________________________

